Averages From Stem & Leaf Diagrams

RED
1) Kkey:213=23 2 Key: 512=52 3)  Key: 1|4=14
213 4 45 5 |2 0|8 8 8 9
31267 89 6 |2 36 7 1|a a5
a1 2 s 714 4 212 4 9
g8 |2 7 3177 89
4|9
ORANGE
1) Key: 6|/1=61 2) Key: 3|4=34 3) Key: 7|5=75
6 |13 4 4 7 olas5666 7|5 7¢8
716 6 8 9 1o 11 3 8 |14 5 6 8
g8 |05 6 8 2loo0045 9]os 809
9|2 4 3|34668 10|23 3
11| 4 5 6 7
GREEN
1) ) 3)
Key: 4|2 = 42 Key: 3|4 =34 Key: 0]2=0.2
412 4 s 6 |o 12 4 0|26 6 7
5103 49 7 |2 103 4 s
6 |13 5 5 6 8 |13 36 2|1 4 6
713 6 9l23469 3|255389
102 2 5 8 4 l2 7
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MATHS GLOUE

Copyright © 2021: www.mathscloud.co.uk




